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15 Tigers And 10 Leopards?

Do any exercise below and find your answer in one of the boxes at the
bottom of the page. Write the letter of the exercise in this box. (To make it
easier to find your answer, the answers are arranged in order from smallest to
largest.) Keep working and you will discover the answer to the title question.

¥l-6 +2 = [Tl-4 + 25 = [F]60 — -15 =
03 --7= [P]37 - 12 = [J]10 + 6 =
D]9 + -4 = [0]17 - 18 = [D]-5 - -20 = [J]-32 + 32 =
[E-7+-2= [Sl10 + -2 = ()4 - 14 = M1 - ~20 =
U]-3 --20 = [E]-11 - -4 = [T12 + -6 = W5 + —25 =
[O]-16 + 18 = [U]-30 — 20 = [S]-30 - 13 = [N]16 +—12 =
1_12= [0]-1 -8 = m-8+'9= @‘48+43=
[Al4 + 22 = =t 2 = [0]-18 - -5 = M2 - 10 =
[Fl-4 - 10 = (NJ22 + -9 = P]14 + -3 = [T]-6 + 15 =
R
A [0]31 - -6 = R]-20 — -8 = [Fl15 — -45 = [R]-69 — ~69 =
A3 & 15'= [U]-32 + 35 = @-7 + 1= [G]50 + ~53 =
22
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